Name: ____________________________________________________________________________		Period: ________

2.3 Distributive Property
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To do this, multiply each
side of the equation by
the denominator of the
fraction. You might then
have to use the
Distributive Property.
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12=2n4+5
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Multiply each side by 4.

Use the Distributive Property.

Multiply.
Subtract 20 from each side.
Simplify.

Divide each side by 3.

Simplify.
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Got It?

Descrllbe and corrlect the Student C
error in the following
student's work.
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Example

Students A and B use different methods to solve the equation
-20= % + 7. One of the students makes a mistake. Find,

describe, and correct the error.

Student A Student B
—20=%+7 _zo=%+7
20-7=%47- _20)=(%
20-7=%+7-7 2(-20) (2+7)2
-27=% -40= x+7
2(—27)=(§)2 SUSYSERST
-47=x

-54=x
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Example
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Words total sugar = 8cakes , amount of sugar
for one filling

G Let f =the number of cups of sugar needed for one filling.

Equation 12 = 8 . [. + f ]

12=8(13 +7)
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Got It?

The length of a rectangle is 7 ft longer than its width. The perimeter of
the rectangle is 26 ft. Write an equation to represent the perimeter in
terms of its width w. What is the length of the rectangle?
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Got It?
Use the Distributive Property to solve 3e - 8 = 2(e - 4).
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Distributive Property

Multiplying a number by a sum or difference gives the same result as
multiplying that number by each term in the sum or difference and then
adding or subtracting the corresponding products.

as(b+c)=asb+a-candas(b-cj=a-b-a-c

Example
36(14 + 85) = (36)(14) + (36)(85)
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Example
Use the Distributive Property to solve 4(8 - ¢) = 8¢ + 16 - 6c..
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To solve equations
containing more than one
fraction, you can
eliminate all fractions by
multiplying each side by
the least common
multiple of the
denominators.
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You can solve an
equation with a fraction in
multiple ways. One way is
to begin by eliminating
the fraction from the
equation. This is similar to
eliminating decimals from
an equation by
multiplying each term by
a power of 10.
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